

City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

File Number	Title	e Status						
R-2007-0204	Resolution In Committee							
	construction, storm s Mitchell St. from S.	sewer, sanitary se 106 St. to S. 108 108 St. to 235' we	2 & Dolan, Inc. for street construction, parking lot sewer repair, and miscellaneous utility adjustments in W. 08 St., S. 106 St. from W. Mitchell St. to Dead End South, W. west of S. 108 St., and Fire Station No. 3 at 10830 W. 247.10. Controlling Body: Public Works Committee					
COMMITTEE RECON	MENDATION _	TGOCA	Sponsor	(s): Public Wo	rks Committee			
ACTION MOVE	ER SECONDER	Barczak	AYE	NO	PRESENT	EXCUSED		
DATE:		Czaplewski						
8-7-07		Dobrowski Kopplin						
		Lajsic Narlock Reinke						
		Sengstock	_					
		Vitale Weigel						
		TOTAL	5					
SIGNATURE OF COMM	MITTEE MEMBE	CR .						
Chair Chair	Vice-	Chair	Member					
COMMON COUNCIL A	ACTION		ADOPT		Carly Carl			
A COTTON MOVE	R SECONDER		AYE	NO	PRESENT	EXCUSED		
ACTION DATE:		Barczak				/		
		Czaplewski Dobrowski	7					
JG - 7 2007 ———		Kopplin						
		Lajsic	-					
		Narlock	/					
	_	Reinke	~					
		Sengstock Vitale						
		Weigel	~					
		TOTAL	0					



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2007-0204 Final Action:

Sponsor(s):

Public Works Committee

AUG - 7 2007

Resolution to approve bid of Payne & Dolan, Inc. for street construction, parking lot construction, storm sewer, sanitary sewer repair, and miscellaneous utility adjustments in W. Mitchell St. from S. 106 St. to S. 108 St., S. 106 St. from W. Mitchell St. to Dead End South, W. Lapham St. from S. 108 St. to 235' west of S. 108 St., and Fire Station No. 3 at 10830 W. Lapham St., in the amount of \$289,247.10.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Payne & Dolan, Inc. for 2007 Project No.13 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Payne & Dolan, Inc. for 2007 Project No. 13:

Street construction, Parking lot construction, Storm sewer, Sanitary sewer repair, and Miscellaneous utility adjustments in:

W. Mitchell St. from S. 106 St. to S. 108 St.

S. 106 St. from W. Mitchell St. to Dead End South

W. Lapham St. from S. 108 St. to 235' west of S. 108 St.

Fire Station No. 3 at 10830 W. Lapham St.

(Plan File No(s). S-1326, S-1327, S-1328, S-1329, S-1330, S-1331, U-2445, X-779, X-780)

for the sum of(289,247.10) Two hundred eighty nine thousand, two hundred forty seven dollars and ten cents

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Bond Funds, Water Utility Funds, Sanitary Sewer Funds, Storm Water Management Funds, Capital Projects Fund, and Special Assessments.

Eng07-26

ADOPTED

AUG - 7 2007

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

eannette Bell, Mayor

STREET CONSTRUCTION, PARKING LOT CONSTRUCTION, STORM SEWER, SANITARY SEWER REPAIR, AND MISCELLANEOUS UTILITY ADJUSTMENTS

W. Mitchell Street from S. 106th Street to S. 108th Street

S. 106th Street from W. Mitchell Street to Dead End South

W. Lapham Street from S. 108th Street to 235' West of S. 108th Street Fire Station #3 at 10830 West Lapham Street

Fire Station #3 at 10830 West Lapham Street		Bid Bond 5%		Bid Bond 5%	
		Payne & Dolan Inc N3 W23650 Badinger Road Waukesha, WI 53188		Wm. Beaudoin & Sons Inc 4435 N. 127 St. Brookfield. WI 53005	
ITEM	UNITS	PRICE	TOTAL	PRICE	TOTAL
1 Excavation	227 cu. yds.	25.00	5,675.00	15.50	3,518.50
2 Borrow Excavation	21 cu. yds.	30.00	630.00	20.00	420.00
3 Sodding	400 sq. yds.	9.90	3,960.00	9.90	3,960.00
4 Asphalt/Concrete Sawing	3,740 lin. ft.	1.45	5,423.00	1.45	5,423.00
5 Walk & Drive Removal	2,890 sq. ft.	0.49	1,416.10	0.50	1,445.00
6 Curb Removal	580 lin. ft.	4.20	2,436.00	4.75	2,755.00
7 Pavement Removal	860 sq. yds.	5.00	4,300.00	6.50	5,590.00
8 Asphalt Surface Removal	1,430 sq. yds.	4.50	6,435.00	2.50	3,575.00
Cracking and Sealing Concrete Paver		0.70	5,019.00	0.80	5,736.00
9 5" Concrete Sidewalk	380 sq. ft.	3.75	1,425.00	3.65	1,387.00
10 7" Concrete Walk & Drive	1,970 sq. ft.	3.75	7,387.50	4.10	8,077.00
11 7" H.E.S. Concrete Walk & Drive	2,050 sq. ft.	4.35	8,917.50	4.40	9,020.00
12 31" Concrete Curb and Gutter	190 lin. ft.	19.60	3,724.00	24.90	4,731.00
13 31" H.E.S. Concrete Curb and Gutter	290 lin. ft.	22.70	6,583.00	24.25	7,032.50
14 19" Concrete Curb and Gutter	100 lin. ft.	17.75	1,775.00	23.10	2,310.00
15 8" Concrete Base	680 sq. yds.	26.00	17,680.00	38.95	26,486.00
16 8" H.E.S. Concrete Base	190 sq. yds.	34.00	6,460.00	43.80	8,322.00
17 Base Preparation	13.8 stations	570.00	7,866.00	700.00	9,660.00
18 Pavement Milling	4,430 sq. yds.	2.70	11,961.00	2.92	12,935.60
19 Pavement Ties	1,400 each	4.50	6,300.00	6.45	9,030.00
20 Base Aggregate Dense, 11/4"	460 tons	17.50	8,050.00	12.25	5,635.00
21 Tack Coat	900 gallons	1.50	1,350.00	2.50	2,250.00
22 Hot Mix Asphalt Pavement (Type E-1	1,720 tons	47.50	81,700.00	53.55	92,106.00
23 Hot Mix Asphalt Pavement (Type E-0	200 tons	54.00	10,800.00	64.30	12,860.00
24 Pavement Marking, Centerline, Epoxy		2.00	2,560.00	2.00	2,560.00
25 Pavement Marking, Words, Only, Epc	1 each	185.00	185.00	185.00	185.00
26 Pavement Marking, Symbol, Arrow, E	2 each	185.00	370.00	185.00	370.00
27 Pavement Marking, Diagonal Line, Er	60 lin. ft.	3.00	180.00	3.00	180.00
28 Pavement Marking, Crosswalk Line, E	230 lin. ft.	6.00	1,380.00	6.00	1,380.00
29 Pavement Marking, Stop Line, Epoxy	50 lin. ft. 340 lin. ft.	10.00 3.00	500.00	10.00 3.00	500.00
30 Pavement Marking, Parking Stall, Epc	1 each	90.00	1,020.00 90.00	90.00	1,020.00 90.00
31 Pavement Marking, Symbol, Handica 32 8" Sanitary Spot Relay	1 unit	4,900.00	4,900.00	4,900.00	4,900.00
33 3'-6" dia. Sanitary Manhole (4)	10 vert. ft.	380.00	3,800.00	380.00	3,800.00
34 Sanitary Manhole Adjustment	4 vert. ft.	460.00	1,840.00	460.00	1,840.00
35 Install Internal Sanitary Manhole Seal	7 units	110.00	770.00	110.00	770.00
36 12" dia. Storm Sewer	70 lin. ft.	48.00	3,360.00	48.00	3,360.00
37 10" dia. Storm Underdrain	152 lin. ft.	36.50	5,548.00	36.50	5,548.00
38 5'-0" dia. Storm Manhole (1)	10 vert. ft.	450.00	4,500.00	450.00	4,500.00
39 3'-6" dia. Storm Manhole (7)	15 vert. ft.	340.00	5,100.00	340.00	5,100.00
40 Round Grate Catch Basins	2 units	1,200.00	2,400.00	1,200.00	2,400.00
41 Catch Basin Replacements	5 units	1,475.00	7,375.00	1,475.00	7,375.00
42 Storm Manhole Adjustment	9 vert. ft.	420.00	3,780.00	420.00	3,780.00
43 Miscellaneous Storm Manhole Repair	1 unit	200.00	200.00	200.00	200.00
44 Hydrant Relocation	1 unit	3,300.00	3,300.00	3,300.00	3,300.00
45 Hydrant Replacement	4 units	2,400.00	9,600.00	2,400.00	9,600.00
46 Adjust Utility Frames	2 vert. ft.	410.00	820.00	410.00	820.00
47 Adjust Water Valve Boxes	9 each	110.00	990.00	110.00	990.00
48 Inlet Protection Barriers	14 units	49.00	686.00	49.00	686.00
49 Manhole Protection Barriers	11 units	20.00	220.00	60.00	660.00
50 Traffic Control	1 lump sum	6,500.00	6,500.00	5,000.00	5,000.00
			289,247.10		315,178.60